



Degenerate q -Changhee polynomials

Taekyun Kim^{a,b}, Hyuck-In Kwon^b, Jong Jin Seo^{c,*}

^aDepartment of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City, 300387, China.

^bDepartment of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea.

^cDepartment of Applied Mathematics, Pukyong National University, Pusan 608-739, Republic of Korea.

Communicated by S.-H. Rim

Abstract

In this paper, we consider the degenerate q -Changhee numbers and polynomials. From the definition of degenerate q -Changhee polynomials, we derive some new interesting identities. ©2016 All rights reserved.

Keywords: Euler polynomials, Changhee polynomials, fermionic p -adic q -integral, degenerate q -Changhee polynomials.

2010 MSC: 11B68, 11S80, 05A19, 05A30.

1. Introduction

Recently, Changhee polynomials are defined by the generating function to be

$$\frac{2}{t+2}(1+t)^x = \sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!}, \quad (\text{see [9][10][12]}). \quad (1.1)$$

In [10], the degenerate Changhee polynomials are defined by Kwon-Kim-Seo to be

$$\frac{2\lambda}{2\lambda + \log(1 + \lambda t)} (1 + \log(1 + \lambda t))^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}. \quad (1.2)$$

From (1.2), we note that

$$\lim_{\lambda \rightarrow 0} Ch_{n,\lambda}(x) = Ch_n(x), \quad (\text{for } n \geq 0).$$

*Corresponding author

Email addresses: tkkim@kw.ac.kr (Taekyun Kim), sura@kw.ac.kr (Hyuck-In Kwon), seo2011@pknu.ac.kr (Jong Jin Seo)

When $x = 0$, $Ch_{n,\lambda} = Ch_{n,\lambda}(0)$ are called the degenerate Changhee numbers. In particular, $\lim_{\lambda \rightarrow 0} Ch_{n,\lambda} = Ch_n$, for $n \geq 0$, are called Changhee numbers, (see [1]–[12]). Throughout this paper, we denote the ring of p -adic integer, the field of p -adic number and the completion of algebraic closure of \mathbb{Q}_p by \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p , respectively. The p -adic norm $|\cdot|_p$ is normalized by $|p|_p = \frac{1}{p}$. Let q be an indeterminate with $|1 - q|_p < p^{-\frac{1}{p-1}}$ and let $UD(\mathbb{Z}_p)$ be the space of uniformly differentiable functions on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the p -adic q -integral on \mathbb{Z}_p is defined by Kim to be

$$I_{-q}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x) q^x (-1)^x, \tag{1.3}$$

where $[x]_{-q} = \frac{1 - (-q)^x}{1 + q}$, (see [7][12]).

From (1.3), we note that

$$q^n I_{-q}(f_n) + (-1)^{n-1} I_{-q}(f) = [2]_q \sum_{i=0}^{n-1} (-1)^{n-1-i} q^i f(i), \tag{1.4}$$

where $[x]_q = \frac{1 - q^x}{1 - q}$ and $n \in \mathbb{N}$, $f_n(x) = f(x + n)$. Recently, Kim-Mansour-Rim-Seo considered the q -Changhee polynomials, $Ch_{n,q}(x)$, which are given by the generating function to be

$$\frac{1 + q}{q(1 + t) + 1} (1 + t)^x = \sum_{n=0}^{\infty} Ch_{n,q}(x) \frac{t^n}{n!}, \text{ (see [9])}. \tag{1.5}$$

In this paper, we consider the degenerate q -Changhee polynomials and we derive some new and interesting properties related to these polynomials and numbers.

2. Degenerate q -Changhee polynomials

Let us assume that $\lambda, t \in \mathbb{C}_p$ with $|\lambda t|_p < p^{-\frac{1}{p-1}}$. From (1.3), we have

$$q \int_{\mathbb{Z}_p} f(x + 1) d\mu_{-q}(x) + \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = [2]_q f(0). \tag{2.1}$$

By (2.1), we get

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^x d\mu_{-q}(x) &= \frac{1 + q}{q(\log(1 + \lambda t)^{\frac{1}{\lambda}} + 1) + 1} \\ &= \frac{q\lambda + \lambda}{q \log(1 + \lambda t) + q\lambda + \lambda} = \sum_{n=0}^{\infty} Ch_{n,\lambda,q} \frac{t^n}{n!}, \end{aligned} \tag{2.2}$$

where $Ch_{n,\lambda,q}$ are called degenerate q -Changhee numbers.

From (2.2), we have

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^x d\mu_{-q}(x) &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} (x)_n d\mu_{-q}(x) \frac{1}{n!} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^n \\ &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} (x)_n d\mu_{-q}(x) \lambda^{-n} \sum_{m=n}^{\infty} S_1(m, n) \frac{\lambda^m}{m!} t^m \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m \lambda^{m-n} S_1(m, n) \int_{\mathbb{Z}_p} (x)_n d\mu_{-q}(x) \right) \frac{t^m}{m!}, \end{aligned} \tag{2.3}$$

where $S_1(m, n)$ is the Stirling number of the first kind. It is known that

$$\int_{\mathbb{Z}_p} (1+t)^x d\mu_{-q}(x) = \frac{1+q}{q(1+t)+1} = \sum_{n=0}^{\infty} Ch_{n,q} \frac{t^n}{n!}. \tag{2.4}$$

Thus, by (2.4), we get

$$\int_{\mathbb{Z}_p} (x)_n d\mu_{-q}(x) = Ch_{n,q}, (n \geq 0). \tag{2.5}$$

Therefore, by (2.2), (2.3) and (2.4), we obtain the following theorem.

Theorem 2.1. *For $m \geq 0$, we have*

$$Ch_{m,\lambda,q} = \sum_{n=0}^m \lambda^{m-n} S_1(m, n) Ch_{n,q}.$$

We observe that

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{x+y} d\mu_{-q}(y) &= \frac{q\lambda + \lambda}{q \log(1 + \lambda t) + q\lambda + \lambda} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^x \\ &= \sum_{n=0}^{\infty} Ch_{n,\lambda,q}(x) \frac{t^n}{n!}, \end{aligned} \tag{2.6}$$

where $Ch_{n,\lambda,q}(x)$ are called degenerate q -Changhee polynomials.

From (2.6), we note that

$$\begin{aligned} \sum_{n=0}^{\infty} Ch_{n,\lambda,q}(x) \frac{t^n}{n!} &= \left(\sum_{m=0}^{\infty} Ch_{m,\lambda,q} \frac{t^m}{m!} \right) \sum_{l=0}^{\infty} (x)_l \lambda^{-l} \frac{(\log(1 + \lambda t))^l}{l!} \\ &= \left(\sum_{m=0}^{\infty} Ch_{m,\lambda,q} \frac{t^m}{m!} \right) \left(\sum_{l=0}^{\infty} (x)_l \lambda^{-l} \sum_{k=l}^{\infty} S_1(k, l) \frac{\lambda^k t^k}{k!} \right) \\ &= \left(\sum_{m=0}^{\infty} Ch_{m,\lambda,q} \frac{t^m}{m!} \right) \left(\sum_{k=0}^{\infty} \left(\sum_{l=0}^k (x)_l \lambda^{k-l} S_1(k, l) \right) \frac{t^k}{k!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k (x)_l \lambda^{k-l} S_1(k, l) Ch_{n-l,\lambda,q} \right) \frac{t^n}{n!}. \end{aligned} \tag{2.7}$$

Therefore, by (2.7), we obtain the following theorem:

Theorem 2.2. *For $n \geq 0$, we have*

$$Ch_{n,\lambda,q}(x) = \sum_{k=0}^n \sum_{l=0}^k (x)_l \lambda^{k-l} S_1(k, l) Ch_{n-l,\lambda,q}.$$

By (2.6), we easily get

$$\begin{aligned} \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{x+y} d\mu_{-q}(y) &= \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} (x+y)_m d\mu_{-q}(y) \frac{\lambda^{-m}}{m!} (\log(1 + \lambda t))^m \\ &= \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} (x+y)_m d\mu_{-q}(y) \lambda^{-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \int_{\mathbb{Z}_p} (x+y)_m d\mu_{-q}(y) \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.8}$$

It is not difficult to show that

$$\int_{\mathbb{Z}_p} (1+t)^{x+y} d\mu_{-q}(y) = \frac{1+q}{q(1+t)+1} (1+x) = \sum_{n=0}^{\infty} Ch_{n,q}(x) \frac{t^n}{n!}. \tag{2.9}$$

Thus, by (2.9), we get

$$\int_{\mathbb{Z}_p} (x+y)_n d\mu_{-q}(y) = Ch_{n,q}(x), \text{ (for } n \geq 0\text{)}. \tag{2.10}$$

Therefore, by (2.8) and (2.10), we obtain the following theorem:

Theorem 2.3. *For $n \geq 0$, we have*

$$Ch_{n,\lambda,q}(x) = \sum_{m=0}^n Ch_{m,q}(x) \lambda^{n-m} S_1(n, m).$$

From (2.6), we can derive the following equation:

$$\begin{aligned} \sum_{n=0}^{\infty} Ch_{n,\lambda,q}(x) \lambda^{-n} \frac{1}{n!} (e^t - 1)^n &= \int_{\mathbb{Z}_p} \left(1 + \frac{1}{\lambda}t\right)^{x+y} d\mu_{-q}(y) \\ &= \sum_{m=0}^{\infty} \lambda^{-m} Ch_{m,q}(x) \frac{t^m}{m!}, \end{aligned} \tag{2.11}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} Ch_{n,\lambda,q}(x) \lambda^{-n} \frac{1}{n!} (e^t - 1)^n &= \sum_{n=0}^{\infty} Ch_{n,\lambda,q}(x) \lambda^{-n} \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m Ch_{n,\lambda,q}(x) \lambda^{-n} S_2(m, n) \right) \frac{t^m}{m!}, \end{aligned} \tag{2.12}$$

where $S_2(m, n)$ is the Stirling number of the second kind. Therefore, by (2.11) and (2.12), we obtain the following theorem:

Theorem 2.4. *For $m \geq 0$, we have*

$$Ch_{m,q}(x) = \sum_{n=0}^m \lambda^{m-n} Ch_{n,\lambda,q}(x) S_2(m, n).$$

We observe that

$$\int_{\mathbb{Z}_p} (x+y)_n d\mu_{-q}(y) = \sum_{l=0}^n S_1(n, l) \int_{\mathbb{Z}_p} (x+y)^l d\mu_{-q}(y), \tag{2.13}$$

where $n \in \mathbb{N} \cup \{0\}$.

The q -analogue of Euler polynomials are given by the generating function to be

$$\begin{aligned} \int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_{-q}(y) &= \frac{q+1}{qe^t+1} e^{xt} \\ &= \sum_{n=0}^{\infty} E_{n,q}(x) \frac{t^n}{n!}. \end{aligned} \tag{2.14}$$

Thus, by (2.14), we get

$$\int_{\mathbb{Z}_p} (x+y)^n d\mu_{-q}(y) = E_{n,q}(x), \text{ (} n \geq 0\text{)}. \tag{2.15}$$

Therefore, by (2.6), (2.8) and (2.15), we obtain the following theorem:

Theorem 2.5. For $n \geq 0$, we have

$$Ch_{n,\lambda,q}(x) = \sum_{m=0}^n \sum_{l=0}^m S_1(m, l) E_{l,q}(x) \lambda^{n-m} S_1(n, m).$$

By (2.1), we get

$$\begin{aligned} & \sum_{n=0}^{\infty} (qCh_{n,\lambda,q}(x+1) + Ch_{n,\lambda,q}(x)) \frac{t^n}{n!} \\ &= \frac{q\lambda + \lambda}{q \log(1 + \lambda t) + q\lambda + \lambda} \left(q(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}) + 1 \right) \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}} \right)^x \\ &= \frac{1}{\lambda} (q\lambda + \lambda) \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}} \right)^x = (q+1) \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}} \right)^x \\ &= [2]_q \sum_{m=0}^{\infty} (x)_m \frac{\lambda^{-m}}{m!} (\log(1 + \lambda t))^m \\ &= [2]_q \sum_{m=0}^{\infty} (x)_m \lambda^{-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} \\ &= [2]_q \sum_{n=0}^{\infty} \left(\sum_{m=0}^n (x)_m \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.16}$$

Therefore, by (2.16), we obtain the following theorem:

Theorem 2.6. For $n \geq 0$, we have

$$qCh_{n,\lambda,q}(x+1) + Ch_{n,\lambda,q}(x) = [2]_q \sum_{m=0}^n (x)_m \lambda^{n-m} S_1(n, m).$$

References

- [1] D. Ding, J. Yang, *Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math., **20** (2010), 7–21. 1
- [2] L.-C. Jang, C. S. Ryoo, J. J. Seo, H. I. Kwon, *Some properties of the twisted Changhee polynomials and their zeros*, Appl. Math. Comput., **274** (2016), 169–177.
- [3] T. Kim, *A note on p -adic q -integral on \mathbb{Z}_p associated with q -Euler numbers*, Adv. Stud. Contemp. Math., **15** (2007), 133–137.
- [4] T. Kim, *Note on the Euler numbers and polynomials*, Adv. Stud. Contemp. Math., **17** (2008), 131–136.
- [5] T. Kim, *A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on \mathbb{Z}_p* , Adv. Stud. Contemp. Math., **23** (2013), 5–11.
- [6] D. S. Kim, T. Kim, *Some identities of Bernoulli and Euler polynomials arising from umbral calculus*, Adv. Stud. Contemp. Math., **23** (2013), 159–171.
- [7] T. Kim, D. S. Kim, D. V. Dolgy, *Degenerate q -Euler polynomials*, Adv. Difference Equ., **2015** (2015), 11 pages. 1
- [8] T. Kim, B. Lee, J. Choi, Y. H. Kim, S. H. Rim, *On the q -Euler numbers and weighted q -Bernstein polynomials*, Adv. Stud. Contemp. Math., **21** (2011), 13–18.
- [9] T. Kim, T. Mansour, S.-H. Rim, D. S. Kim, *A Note on q -Changhee Polynomials and Numbers*, Adv. Studies Theor. Phys., **8** (2014), 35–41. 1.1, 1.5
- [10] H. I. Kwon, T. Kim, J. J. Seo, *A note on degenerate Changhee numbers and polynomials*, Proc. Jangjeon Math. Soc., **18** (2015), 295–305. 1.1, 1
- [11] C. S. Ryoo, *Some identities of the twisted q -Euler numbers and polynomials associated with q -Bernstein polynomials*, Proc. Jangjeon. Math. Soc., **14** (2011), 239–248.
- [12] N. L. Wang, H. Li, *Some identities on the Higher-order Daehee and Changhee Numbers*, Pure Appl. Math. J., **4** (2015), 33–37. 1.1, 1, 1